
Mathematics AA - IB1
Pre¡Test 5

subject: Trigonometry II

Wednesday 5 march 2025
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Problem 1
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Problem 2

Working:

Answers:

(a) ..................................................................

(b) ..................................................................

(Total 6 marks)

17.) In the following diagram, O is the centre of the circle and (AT) is the tangent to the circle at T.
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Diagram not to scale

If OA = 12 cm, and the circle has a radius of 6 cm, find the area of the shaded region.

Working:

Answer:

.......................................................................

(Total 4 marks)

18.) The diagram below shows a sector AOB of a circle of radius 15 cm and centre O. The angle � at the
centre of the circle is 2 radians.

Diagram not to scale
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Problem 3 [ 6 marks ]

In the figure below,

the length of segment BC is 21 cm

the length of the semi-circle of radius O1P is 22 cm

the surface area of the semi-circle of radius O2Q is 39.3 cm2

Find

i) Angle BACd
ii) The surface area of the triangle ABC.
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